BRIV NU-800(174447")
AP s=1/5 ABEHBR s=1/5
FEE s-1/40 150 150
Q75 75__75
3000 £ M10X30 L=55X55X4 B4
| (5y7) , 2 | / ©
7o b o
R & - — T —e—H— 8
1 N f T
| BRo4 M10X30
= 75 5y
3 | [
© - M8X20
#8506 5y
N N
1000 CEFMR s=1/5
EBAR s=1/40 fImR s=1/40 B0 s=1/5 150
75__75
3000 @3000 -
| | 0-150X150%5 MIOZS0
/+ A Ay i ™ B
e h
N L-55X55%4 U/ e BiRo4
M ER@200 il el i % s
1%%5—‘2“‘ | /,E ¥
—_ L &3 o = M8X20
BiRo - - 5y 1)
p wn
I Bl o N N
]
ULHER ol M
$3.2X50mm 0 FE&FE s=1/3
% DEHEN  s=1/5 L=55X55%4 L—45X45%4
L—55X55X4 HA 0 BiR04
AAREB@200 3 B
3 % : I /| t / o & -sﬁé{} = T
L-55X55X4 ] el / L § / ﬂ#ﬁ- 3 MBX16
THR%@200 € |8 . . 2 v
- © \ M8X30 19 _36_|_40_|_36_|19
e 3 150
\
i/ o
H 3
2l 3 ERWAE s=1/3
© <+
- 200 __ 200
2 |
ﬁ i | [=
Z\ " 7
L-55X55X4 B 2
| armBse200/ D 3 )\\& )\&
I TS A =
ol o
R 3
1000 1600

AT BREY 4 ALKV, RRINLBREJGRLZGENHYET,

W=vF T R&ARIL



